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Fin‘c{ the number of rpossdvl-e outcomes,

. Roll three dice at the same time, What is the

total number of ways the dice could land?

First Die Second Die Third Dig
6 choices X X

. Your combination lock has g three-digit combination.
Each digit can be a number from one to nine.
How many different combinations are possible?

. Itis the end of the week at Camp Kukformee. The
cook will make sandwiches for lunch, He has four
kinds of meats, three types of bread, two choices of
condiments, four choices of side dishes, and three
cholces of beverages. How mc:ny different lunch
cholces can he offer? -

. The car dealership in fown offers 32 different models
of vehicles. Each model has a choice of eight
interior colors, elght exterior colors, and also the
option of auformatic or manual transmission. -How
many combinations are possible?

J ~ The soccer team is choosing a uniform. They have o

choice of black or white socks, black or white shoses,
and 12 different colors of jerseys. What is the total
number of clothing combinations?




6) You have a coin and a spinner with the colors red, L
white, and blue. What is the probability of
tossing heads with the color blue?

7)

A canister contains 200 jellybeans. There are 75 cherry-flavored, 36 lime-flavored,
44 grape-flavored, and 45 coconut-flavored Jellybeans.

What is the probclbili‘ry~ of choosing a given flavor? Express each answer in lowest terms.

1. grape

2. coconut

3. cherry

4, lime

5. grape orlime

6. coconut or cherry

7. lemon

8. grape or cherry




8)

"~ Many's family is looking at new cars. They have narrowed it down to the following
choices. The tree diagram below shows the possible outcomes,

Gray Interior
White Intertor
Red Interior
Gray Interior
White Interior
Red Interior

Gray
Sedan

White

Gray Interior
White Interior
Red Interior
Gray Interior
White Interior
Red Interior

Gray

Van
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1. The compound event described above
has how many possible cutcomes?

2. What is the probability that Mary’s family
will select a gray sedan with a black interlor?

3. What is the probability that they wilt select
a gray van’?

4. What is the probabllity that they will select
a white van with ¢ red interior?

EXTENSION

On another paper, show a different way to figure the
number of possible ocutcomes in this compound event
without drawing a free diagram.




9)

Draw a tree diagram based on the spinners illustrated below. |f the two spinners wer(e
each spun once, what would all the possible combinations of the two spinners be? List all
the possible outcomes and the probability of each outcome,

10) Explaih the difference between theoretical and ex—perimen’ral
probability.




11)

12)

Dependeh’r or Ihdepeht{eh’r?

a) Choosing a red warble from a bag, putting it back in and
then choosing a blue marble,

f)) Takihg an Oreo cookie ]crorn' the bag b]( cookie
assortments, eating it and then choosing another Oreo

cookie ]crorn' the same ;:ag,
) Spinning a spinner with 7 sections and then rolling a die.

J) Draving a King of Ace from a standard deck of cards,
keeping it out and then draving a Jack of Clubs.

18 children that live on Lo\re[g Lane have 2 pool in their
backgard. 25 children have a ’rrampbhne, 8 children have
both. Draw a Venn Diagram to illustrate this, How many
children have only one yard recreation iter?







